[HEN
D

[mean P, [GeV]
H
N

[EEN
o

[EEY

Ratio to ATLAS

13000 GeV pp | Unlderllyingl Event

[~ T T T T N |2
c
Avera lead >
ge pT VS pT (In] < 2.5, P> 0.5 GeV, P> 1 GeV) %
L 1=
_ m ATLAS e
= ¢ Sherpa 2.2.9 default 15
- |
—
| mls)
_ o
L —H.=
B |
B |z
- R I
- e B S
| ' o
o
L . e p)
- -
- ¥ ok
- X
- o ¥ ! ] " — .E.
| ¢ 9...0--4""'. g = 5
— ettt m 1<
— ".0"’ gal | . — 8
B F e
o
L o
| | | | | | [ | | | | | | | -
: T T T T | T T T T | T T T T |:
= =
= L ]
E "’-0"”""’*"""'0-~-’...Q...’ ...... PR S ’ ................ ’ E
I _
_‘.0 1
| —0.5
" 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 10 20 30

p'Tead [GeV]



	Contents
	Page 1


